

Věta 22 (a)  $f \in L^1_{loc}(\mathbb{R}^d) \Rightarrow 1_f * \varphi = f * \varphi$   $\square$

$$\begin{aligned} \Gamma 1_f * \varphi(x) &= 1_f(\tilde{\tau}_x \check{\varphi}) = \int_{\mathbb{R}^d} f(y) \cdot \tilde{\tau}_x \check{\varphi}(y) dy = \\ &= \int_{\mathbb{R}^d} f(y) \cdot \varphi(x-y) dy = f * \varphi(x) \quad \square \end{aligned}$$

(b)  $U * \varphi \in C^\infty(\mathbb{R}^d)$  a  $\forall \alpha: D^\alpha(U * \varphi) = (D^\alpha U) * \varphi = U * D^\alpha \varphi$

$$\Gamma U * \varphi(x) = U(y \mapsto \varphi(x-y))$$

$$U * D^\alpha \varphi(x) = U(y \mapsto D^\alpha \varphi(x-y))$$

$$\begin{aligned} D^\alpha U * \varphi(x) &= D^\alpha U(y \mapsto \varphi(x-y)) = (-1)^{|\alpha|} U(D^\alpha(y \mapsto \varphi(x-y))) = \\ &= (-1)^{|\alpha|} U(y \mapsto (-1)^{|\alpha|} D^\alpha \varphi(x-y)) = \\ &= U(y \mapsto D^\alpha \varphi(x-y)) = U * D^\alpha \varphi(x) \end{aligned}$$

společně  $\frac{\partial}{\partial x_1} (U * \varphi)(x) = \lim_{z \rightarrow 0} \frac{U * \varphi(x + ze^1) - U * \varphi(x)}{z} =$

$$= \lim_{z \rightarrow 0} \frac{1}{z} U(y \mapsto (\varphi(x + ze^1 - y) - \varphi(x - y))) =$$

$$= \lim_{z \rightarrow 0} U(y \mapsto \underbrace{\frac{\varphi(x + ze^1 - y) - \varphi(x - y)}{z}}_{\substack{\text{dle L22(b)} \\ \downarrow \\ \mathbb{D}(\mathbb{R}^d)}}) = U(y \mapsto \frac{\partial}{\partial x_1} \varphi(x-y))$$

dle L22(b)  $\downarrow$   $\mathbb{D}(\mathbb{R}^d)$

$$y \mapsto \frac{\partial}{\partial x_1} \varphi(x-y)$$

$$\parallel \\ (U * \frac{\partial \varphi}{\partial x_1})(x)$$

Nyní stačí ukázat, že  $U * \varphi$  je spojitá a použít analogii podle d

k tomu stačí:  $x_n \rightarrow x$  v  $\mathbb{R}^d \Rightarrow$

$$\parallel (y \mapsto \varphi(x_n - y)) \parallel \rightarrow \parallel (y \mapsto \varphi(x - y)) \parallel \text{ v } \mathcal{D}(\mathbb{R}^d)$$

( $\forall \epsilon$   $\exists$   $N$   $\forall n \geq N$   $\exists$   $\delta$   $\forall x, x_n$   $\parallel x - x_n \parallel < \delta \Rightarrow \parallel \varphi(x_n - y) - \varphi(x - y) \parallel < \epsilon$ )

$$(c) \text{ spl}(U * \varphi) \subset \text{spl} U + \text{spl} \varphi$$

~  $\left[ \text{spl} U \text{ nelinearna, spl } \varphi \text{ konvolutivna} \Rightarrow \text{spl} U + \text{spl} \varphi \text{ nelinearna} \right]$

$$x \notin \text{spl} U + \text{spl} \varphi \Rightarrow \exists r > 0 : B(x, r) \cap (\text{spl} U + \text{spl} \varphi) = \emptyset$$

$$U * \varphi(x) = U(y \mapsto \varphi(x-y))$$

$$\varphi(x-y) \neq 0 \Rightarrow x-y \in \text{spl} \varphi \Rightarrow y \in \overset{x - \text{spl} \varphi}{\text{spl} \varphi}$$

$$\text{tj } \text{spl}(y \mapsto \varphi(x-y)) \subset x - \text{spl} \varphi$$

~ a by  $U * \varphi(x) \neq 0$ , mi ~~je~~ ~~može~~ maksimal  $\text{spl} U$ ,

$$\text{tj } \text{spl} U \cap (x - \text{spl} \varphi) \neq \emptyset \Rightarrow x \in \text{spl} U + \text{spl} \varphi$$

Tog ~~je~~ ~~opredeli~~  $\text{spl} U * \varphi \subset \text{spl} U + \text{spl} \varphi$  ]

$$(d) (h_j) \text{ apikal. porokulirani} \Rightarrow \Lambda_{U * h_j} \rightarrow U \text{ u } \mathcal{D}'(\mathbb{R}^d)$$

$$\Gamma \varphi \in \mathcal{D}'(\mathbb{R}^d) \Rightarrow$$

$$\Lambda_{U * h_j}(\varphi) = \int \varphi(x) U * h_j(x) dx =$$

$$= \int \varphi(x) \cdot U(y \mapsto h_j(y-x)) dx =$$

$$= \int U(y \mapsto \varphi(x) h_j(y-x)) dx =$$

[  $(x, y) \mapsto \varphi(x) h_j(y-x)$  je funkcija  $C^\infty$  na  $\mathbb{R}^d \times \mathbb{R}^d$  ]

$$\varphi(x) h_j(y-x) \neq 0 \Rightarrow x \in \text{spl} \varphi$$

Tu 24/23

$$x + \text{spl} h_j \in \Rightarrow y \in \overset{x}{\text{spl} h_j} \subset \text{spl} \varphi + \text{spl} h_j$$

$$\Rightarrow (h_j) \in \text{spl} \varphi + (\text{spl} \varphi + \text{spl} h_j)$$

$$= \Lambda_1(x \mapsto U(y \mapsto \varphi(x) h_j(y-x))) \cong U(y \mapsto \Lambda_1(x \mapsto \varphi(x) h_j(y-x)))$$

$$= U(y \mapsto \varphi * h_j(y)) = U(\varphi * h_j) \rightarrow U(\varphi) \text{ jer } \varphi * h_j \rightarrow \varphi \text{ u } \mathcal{D}'(\mathbb{R}^d)$$

$$e) \tau_x (U * \varphi) = (\tau_x U) * \varphi = U * \tau_x \varphi$$

$$\tau_x (U * \varphi)(y) = U * \varphi(y-x) = U(z \mapsto \varphi(y-x-z))$$

$$(\tau_x U) * \varphi(y) = \tau_x U(z \mapsto \varphi(y-z)) = U(\tau_{-x}(z \mapsto \varphi(y-z))) \\ = U(z \mapsto \varphi(y-(z+x)))$$

$$U * \tau_x \varphi(y) = U(z \mapsto \tau_x \varphi(y-z)) = U(z \mapsto \varphi(y-z-x))$$

$$f) (U * \varphi) * \psi = U * (\varphi * \psi)$$

$$(U * \varphi) * \psi(x) = \int_{\mathbb{R}^d} U * \varphi(x-y) \cdot \psi(y) dy = \int_{\mathbb{R}^d} U(z \mapsto \varphi(x-y-z)) \psi(y) dy$$

$$= \int_{\mathbb{R}^d} U(z \mapsto \varphi(x-y-z) \psi(y)) dy =$$

$$\Gamma(y, z) \mapsto \varphi(x-y-z) \psi(y) \in C^\infty \text{ in } \mathbb{R}^d + \mathbb{R}^d$$

$$\text{p.d.} \neq 0 \Rightarrow \cdot y \in \text{supp } \psi$$

$$\cdot x-y-z \in \text{supp } \varphi \Rightarrow z \in x-y-\text{supp } \varphi \subset x-\text{supp } \varphi - \text{supp } \psi$$

Thm 23

$$\text{Thm } \text{p. 10 } z \in \mathcal{D}(\mathbb{R}^d + \mathbb{R}^d)$$

$$\downarrow \quad \downarrow \\ = \Lambda_1(y \mapsto U(z \mapsto \varphi(x-y-z) \psi(y))) = U(z \mapsto \Lambda_1(y \mapsto \varphi(x-y-z) \psi(y)))$$

$$= U(z \mapsto \varphi * \psi(x-z)) = U * (\varphi * \psi)(x)$$